Geometry 8.4
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Triangle Proportionality Theorem
Ifaline is toa ofa , then it separates the other two into segments.
e Andthe is also true. segments - line to the third side.
In ARSQ with chord TU, QR = 10, QT = 2, UR = 6, and SR = 12. Determine if QS || TU. Q T
R
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I If three or more lines intersect two then they cut off the transversals
Using the information in the diagram, find the distance TV.
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An in a triangle separates the _ side into segments that have the same as the

other two sides.

Find x
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